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Note :— Answers may be written either in Enélish or in Hindi;
but the same medium should be used throughout the
paper. =
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Question No 1 is compulsory.
Attempt five questions in all.
All questions carry equal marks.
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Write short nc;tes 0;1 anyltwo 2 A 74,7
() Real GDP and Nominal GDP |
(i) Consump:tion Function
(iii) Balance of Payments

(/)  Speculative Motive for Money.
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What is the meaning of Fiscal Policy and Monetary Policy
of the Government ? How can they be used to correct output,

employment and price imbalances ? 72,14
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Explain the income method of esti;nating national income.

What precvautions need to be taken while using this
method ? : 105
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(@)  With the help of a diagram derive the saving function

from the consumption function.

(b)  Calculate marginal propensity to consume and marginal

propensity to save from the following schedule : 10,5
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b aﬁ ﬁﬁﬂl ; (@) Determine the equilibrium level Vof income and
A (Y) 309 (©) MPC MPsS consumption, ‘
d ¢ 2 = (b)  What is the value of investmentl multiplier ?
o 85 & e () “Hts increases to T 200 crores, what is the new
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the size of the marginal Propensity of corlsume (MPC),

Explain the income determination in a two sector economy Do you agree with the statement 9

model using aggregate expenditure appro'ach and saving- e aw % aﬁ. . w ::
investment approach with the help of a diagram. 15 3“5”%”\@3
Tafe %t "o | 9 = gfew w sa-taEw i | ,
g&ﬁmmmmm%—mmm ‘. C=100+o_6'yd. : Y, =(Y_-T1
i s ffon # smen wfm) =% 100w
() ; The following information about an economy is given oo I"so wg

as under : : ‘

C =100 + 06 Y, Y=Yy -1 T =% 100 ¥z

= T 100 Crores 5. (%")W‘lﬁﬂqaam %Wwiﬁﬁufﬁa
G = T 150 Crores ' : ‘ - Fifem
T = ¥ 100 Crores | | (®) fray T 7 T R )

P.TO.



{6 ) 7069

(M R Tl =d ) TgF 7 200 T

B W R qE IR w9 W
¥ oem ?

() HE iyt ® aTwR @ @y fEw o
F AHER TOH w9 ¥ sfEfla dar 1 e
I W FH ¥ wEma §

An fncrease in the marginal propensity to import reduces the

equilibrium income in an open ecohomy while an increase in

- ‘autonomous exports increases the equilibrium income. Explain

w;th the help of diagrams. . : 15
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What is money ? Explam the functions of money. 5,10
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